employee = (person-name, street, city)
works = (person-name, company-name, salary)

company = (company-name, city)

manages == (person-name, manager-name)

Need to add some with the aggregate operator.
1) A list of the names of those employees who work for First Bank Corporation

2) A list of the names and cities of residence for those employees who work for First Bank Corporation.

3) A list of the names, streets and cities of residence for those employees who work for First Bank Corporation and earn more than $10000 a year.

4) A list of the names of those employees who live in the same city as the company for which they work.

5) A list of the names of those employees who live in the same city and on the same street as their managers.

6) A list of the names of those employees who do not work for First Bank Corporation.

7) A list of the names of those employees who make more than every employee of First Bank Corporation.

8) Assume companies can be located in more than once city. A list of the names of those companies that are located in every city where First Bank Corporation is located.

9) A list of the account numbers for those accounts that can be deposited into by more than two customers.

10) Find the name(s) of the company with the most employees.

11) Find the name(s) of the company with the smallest payroll.
12) Find the name(s) of those companies whose employees earn a higher salary, on average, than the average salary at First Bank Corporation.

13) Find the account numbers for those accounts with a balance that is larger than any loan at the bank.

14) Find the names of those individuals having an account with a balance that is larger than any loan at the bank.

15) Find the names of those branches with an asset value that is smaller than every loan at the bank, and smaller than every account at the bank.

Additional Exercises

Suppose a person can have more than one job. How do the schemas in the book change? How do the answers to the above queries change? Similarly, suppose a company can exist in more than one city. How do the schemas change? How would these changes affect your answers? What if both changes are made?
